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A 105.400 59.400
B 181.200 144.100
A akii G (O) w90 duold 46.00m
B ahii U (0) 90 dold 37.10m
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OA = k(tB —t,)=>0A= 100(105.400—-59.400) = OA =100(46) = 4600cm

OA =4600/100= OA =46.00m

OB = k(z‘B —tP) = 0B =100(181.200—-144.100) = OB =100(37.1) =3710cm

OB =3710/100= OB =37.10m

AB=0A+0OB= AB=46.00+37.10= AB=83.10m
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A 82.400 ;
B - 162.600
AH ,, ~0.802m
h, 1300.00m
H; 1300.824m
(hp)lso b 450 o 51 B alails g5 ! 1299.198m

AHAB =a-b= AHAB =82.400-162.600 = AHAB =—-80.20cm = AHAB =-0.802m
hB :hA -Ah= hB =1300-0.802 = hB =1299.198m
H =hA ta=H =1300+0.824 = H, =1300.824m

hB =H -b= hB =1300.824-1.626 = hB =1299.198m
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